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What is the mwn teaching us; when it cannot be divided legally

OVERVIEW

The X3 cited the X°7n% X1w° which maintains 7"w 2"7. Either partner can coerce
the other to build a wall jointly. The reason the 7Iwn says X7, which indicates it
has to be done willingly; no coercion is permitted, is because the 71wn is discussing
a 17?1%n 17 72 PRw 0. In such a 7%, no one can coerce the other to divide, unless
they both agree. That is the meaning of X7w omwi; they agreed to divide the 2xn
n"72 PXY. Once however they agreed to divide this %r, then either partner can
coerce the other to jointly build a wall. The X723 then questions this interpretation.
The question reads (literally, somewhat) as follows: ‘what are you teaching us; that
by a n"7 72 PRY 7¥n they may willingly divide; we have already learnt this
elsewhere’!' A cursory reading of this question would indicate that the questioner
assumed that our mwn is (only) teaching us the rules of dividing a 17"7 72 PXW 2x7.
Therefore he asks we already know these rules from elsewhere! nmoown will
challenge this assumption, that all the 71wn is teaching us are the rules of division.
The mwn is teaching us (in addition) that 7"w97! What therefore is the s'Xna
question 9"np *Rn?!

MooIN anticipates the following question:
— 2PN NMIVYT )T ¥NRYUN NPT ) DY 4N

Even though the m1wn teaches us that 7% 2177 is considered damage. How can the
Xm3 ask 2"np "1, when the mwn is teaching us 7"wa!?

mooin replies:
— APIYN 17 N2 PR S9NRT NN )Y YHWN XP INN 3IW1929 5N

This is the explanation of the s'k73 question. What is the 71wn teaching us more

by discussing a case of a 711 which is 171"72 X, and telling us that in this situation 7"w77 -
— 999 (I89WD) Y[INY NYT 23 Yy GR] APIYN 11 N YIVA 1YWY

! The idea that o°®>mw may agree to divide a n"7a 7Xw 737, should be understood to mean, that once they
contractually agree to divide, neither can retract his agreement.
2 Why does the X7n3 assume that the 73wn is only teaching us that partners may divide a 1"72 1Xw 737; and therefore
asks that this rule has already been taught elsewhere, where in fact the 7wn is teaching us a new 7 that 7"w";1. This
17 was not taught in any other 7wn.
3 The X»3 knew that the 71wn is not just teaching us the 1°7 that by a "2 PRw 21 the partners may willingly divide.
It is understood that the m1wn is teaching us the 7 of 7"w"7. Rather the s'k7%3 question is as follows:
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Let the 71wn teach us this same 77 of 7"w7 in a 7¥n that has 77191 >72,° and the
mwn teaches us that even though one of the partners did not want to divide,
nevertheless we divide and force him to jointly build a common wall.®

mooIn explained that the question of 2"»p *Xn, is not merely that our mwn is superfluous since we
know this 17 from '7a12 snnX', but rather the question is why teach the 1°7 of 7"w27 by 1"72 X,
instead of by 1172 v°. When we see the s'X13 answer to this question 121 X" anan °X, it seems
however that the X713 is responding only to the question that our 71w is superfluous, but not to
the question that n190N proposes, i.e. why teach 71"w27 by 1"72X instead of 1"72°. MdOIN responds

to this issue.
— 575N 197 N2 PN ITIANT ) ¥NRWN XP XD (N0N)[NI*M)]

And the X773 answered, this is what the 71wn is teaching us, by telling us the "7 of

n"wAn by a n"72 pxw 130 that even if the 937 is 17''72K -
1. H5yY 10999999 HINNININ N NI MYUYY 5310 DY 9199199 NIINT

Where it is possible for the reluctant partner to argue that I did not agree to
divide if it results in my obligation to build a wall,'> as was explained

previously in n1901n.We may have thought that the reluctant partner has a strong argument and
is exempt from building the wall. Therefore, our 711wn teaches us that (even by "1¥7') by a 7"Rw %1
n"73, once he agrees to divide the 7%, he is obligated to jointly build a wall.

SUMMARY
Without n1901n we assume the following. The X3 understands that the 7iwn by
stating "X is teaching us that by a 1"72 PXw 7%17 they may willingly divide. The

4 The translation follows the text in the [brackets]; not in the (parenthesis).
5> The mwn should not have said 13w indicating that willingness is required to divide the 7%n, which limits the 17 of
the mwn to a n"72 PRY 13n. This rule that a AP1%n 17 72 XY 131 may be divided willingly, we know from the mwn of
127 172 DK,
® This may be a greater w171 than by n1"72 PX. For by n"72x since he agreed to divide and we assume that 7"w7, it
would seem that he agreed even to build a wall. However, by 11"72> where he never agreed to divide; the whole
division is against his will, perhaps in such a case I may think that he is not obligated to build a wall.
7 The translation will be following the X073 of the 0"77%, namely y7°M; not the printed X3 in our MdoIN (and
R"W7m no7°a) which reads Y. See ‘Appendix’.
8 By a n"72 ww 13n, the reluctant partner has no choice; he must divide since it is 1"72 w> and he must build a wall
since 1"w1.
° By a 1172 7XW %1 it is required that they both agree to divide.
10 Perhaps this should be emended to read "nw=°573' or "1 W7
"y 11991 77"7 2,2 7.
12 When the X3 answers the question and states 'Sn?y2 09°012 191 X"77 onA» °X' it means as follows: If our mwn
would state the 17 of 7"w77 by a 1”72 W 7%, we may (mistakenly) think that even though we maintain 7"w"71, but
by a n"7a PRW 7¥n, we may falsely assume that the reluctant partner can say, ‘I agreed to divide this 7¥n1 with a
05°0n, but not with a 7m> of n*11 1.
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X3 asks that this 17 was already taught elsewhere. The X3 answers that from
our Mwn» we know, that not only do they divide, but they must also build a 2nm>.
Moon asks how can the X3 assume that the 7I1wn is only teaching us that they
may divide a 11"72 PRW %1, when it is obvious that the 71wn is teaching us the 17 of
1"w17. Something the other 71wn does not teach us.

noon explains that the X3 originally knew that the mawn is teaching us 7"wAn.
Nevertheless the question is why teach 7"wA7 by a n"72 XW 9%17 as opposed to a
n"72 ww 7xn. The X773 answers that even if we knew that 7"wA7 by a n"72 ww 7x¥m,
we may still think that by a 17"72 7"RW 7¥1 one cannot coerce the reluctant partner to
build a wall. The reluctant partner may argue that I only agreed to divide if I do not
have to build a wall. Our 71wn teaches us that this is not a valid argument and even
by a 1"72 7XW 7% he is required to build a wall jointly.

THINKING IT OVER
According to the X1pon, is the 71wn also teaching us the rule that by 172 PR ¥,
they may divide (and then not be permitted to retract)?

APPENDIX

The translation has followed the view of the 2"97% who is 'y’ 0); that MooIN is
explaining the answer of the X »3.'> Out text however reads (and the X"wmn
enforces it) '72°M'; that MmdoIN is challenging the s'R 3 question of 5"np R,
According to this X077 the explanation of N1901N may be as follows.

npoIn explains the question of the X723 Why does the 7iwn teach us the rule of
7"wan by a 1"72 PRW %0, the 7awn should have taught it to us by a 1"72 ww 7xn. In
a n"72 ww 1xn there is a greater w17°m;!* that even though the reluctant partner did
not even agree to divide (as opposed to a 1172 PRWw 7X77), nevertheless, he can be

13 There are difficulties with the s'n"77» view. Firstly is the change in the text from what actually appears in the
moon. Secondly according to the 0" the answer of the X773 which states 21 Xn2y2 09°012 K" 0N °X is not the
complete answer. The complete answer would require that which N150I0 states: *X¥INX 82 X713 MWy n"y, which does
not appear in the & nx. A third difficulty is that in a previous (1121777 2,2 Md01N) it seems that N1dOIN there asks and
answers the same question and answer that our M990 maintains is the s'®713 question and answer here. m»01n there
however, stated that according to some texts this question and answer that n1901n is proposing actually is found in
the X 3. It is assumed that nooIn is referring to the X3 in parenthesis beginning with (131 1¥7 *51 R"%"). However,
according to the 0"77n, our X1 itself, before the parenthesis, is asking and answering the same question and answer
of that nMvo1N. Why does n1v01n say that (only) in some texts does this question and answer appear, when in fact it
appears in all texts according to the 2"77n. The following interpretation according to the X0 of the X"wAin
(seemingly), removes all these difficulties.

14 See footnote # 6.
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coerced (not only to divide, but also) to jointly build a wall. The fact, that the 71wn
ignores this reasoning and teaches us this 17 by a 1"72 XW 7%17 indicates that the
mwn wants to teach us [also] the laws of dividing a 1"72 7Xw 7%7; that once they
agreed (contractually) to divide they cannot retract this agreement.”> The X3
therefore asks, that the laws of agreeing to divide a 1"72 PXW 7% are already
clearly stated; why repeat them. To which the X723 answers, that it is true that the
laws of division were already stated; however from that other 71wn we may have
thought that the rule that once they agreed to divide they cannot rescind, is only
when they agree to a 09°0n. However if one partner insists on a ?m>, then the other
partner has the right to retract his agreement. The %1 would then revert to its
original status of a 1"72 PXW 9%1.' Our mwn therefore teaches us that they cannot
retract this agreement even if one partner insists on a ?n1>.

moon however, challenges the assumption of the X713, Why did the X713 assume
that out 71wn wants to teach us the laws of division; when in reality our 71w» wants
to teach us the 17 of 7"w77? The reason the 71wn teaches this to us by a 7RW X
n"72 1s because (contrary to the questioner’s assumption) the greater w17° of 77"'wA7
1s not by a 11"72 ww ¥ (as the 7Wwpn assumed), but rather by a 1"72 XY x7. We
may have thought that by a 1"72 7Xw ¥ the reluctant partner can argue I never
agreed to divide with a wall. Therefore the 1171 will remain without a wall; P
X1 cannot force one to build a wall by a n"72 PRw 1¥n.'7 That is why the mwn
teaches us the 17 of 7"w77 by a n"72 PRW 7%, but not because the 7Iwn wants to
teach us any 77 concerning dividing property. What therefore is the s
question!? Moon does not offer an answer.

15 See footnote # 1.
16 The X7m3 did not think, even in the X"71, that he could retain the division and refuse to build a wall. According to
the X3 the assumption of the 7wpn; namely that there is a greater w17°17 to build a wall by a 1"72 w*w 2¥n, remains.
Therefore if he would want to retain the 7?1711 by a n"72 PRW 231 he would have to build a wall, with a ¥"> from a
n"72 ww 7xr. The X713 (in the X"7) is discussing only the issue of "1¥7'; that it is possible to break the agreement by
a 72 PRY 2xn, if the partner insists on having a wall. Our 73wn, when it states "X is teaching us a "7 in 7197,
not (only) a "7 in 7R pT7.
17 See footnote # 16 above. This can perhaps explain the difference between mooIn asking '2°M' and the s'83
answer of 121 anan °X that they are not identical. The X713 is discussing the 7121 21022 while nvoIn is discussing P17
TR PTI Y.
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